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Mathematical Concepts — Joysheet 9 Name: ~—7U d{‘f A
MAT 117, Spring 2013 — D. Ivansié Show all your work!

Final answers should have accuracy to 6 decimal places (or 4 decimal places for table-derived
answers). Show some work how the mean and standard deviation are computed. Giving only
the answer will bring you few points.

1. (18pts) A restaurant chain is reviewing scores on the question “quality of food” on a
comment card. The scores were numbers 1-5 (3 being best), and the number of cards with
a given score on the question is listed below.

a) Find the range of the scores. AJ U - 1= d'
b} Find the mean of the scores. ’ —
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2. (10pts) The wait time at a grocery store checkout between the hours 4PM and 6PM on
a Saturday has been found to have mean 4 minutes, with standard deviation 1.25 minutes,
Use the 68-95-99.7 rule (draw a picture) to find the percentage of patrons that waited:

a) between 4 and 6.5 minutes
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d) between 1.5 and 5.25 minutes.
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3. (6pts) A set of data items is normally distributed with mean 13 and standard devia-
tion 2.3. Find the data items that correspond to the z-scores given below.

a)z=10 b) z=0.6 c)lz=—17
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4. (4pts) Car companies were rated for owner satisfaction by many surveys. Company A
scored 22 points on a survey with mean 18 and standard deviation 3, and company B scored
64 points on a survey with mean 50 and standard deviation 9. Use z-scores to determine

which company did berter.
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5. (22pts) The weight of cows at a certain farm is normally distributed with mean 825 lbs
and standard deviation 56lbs. Draw a picture showing which area you are computing as you
ATISWET:

a) What percentage of cows weigh less than 900 lbs?

b) What percentage of cows weigh more than 800 lbs?

¢) What is the percentile of a cow weighing 875 lbs? What does this mean?

d) What is the probability that a random cow weighs between 700 and 750 1bs?
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